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Model Test One
W o

Part [ Listening Comprehension (20 minutes)
Section A
Directions: In this section you will hear 10 short conversations. At the end of each conversation ,a question will be
asked about what was said . Each conversation and question will be spoken only once. After each question
there will be a pause. During the pause , you must read the four suggested answers. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre .
Example: You will hear:
You will read:
A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conwrsatwn we know that the two are talkzng about some work they 'wzll start at 9 o'clock in the
momzng and ha've to f' msh at 2 in the aftemoon Therefore, D) “5 hours” is the correct answer . You should
choose answer [D] on theAn.vwer Sheet and mark zz 'wzth a smgle line through the centre.

; _Sample Answer: [A] [B] [C] [&]
‘l.._A) ThewcmanlstakmgMax placeat work
B) Maxandthewananarewmhngtogethertoday.
o wggamsexpecungtotaketodayoff
>‘ S Ma‘Jt'aSked if the woman was sick.
z- A) She’s less successful now than she was last year,
B) Her success is hard to understand.
C) She’s been extremely successful.
D) She owes some of her success to her personality.
3. A) He doesn’t want to have lunch with the woman.
B) He will be very busy.
C) He’s having lunch with somebody else.
D) He never eats lunch.
4. A) He is in the Army. B) He likes cars. C) He is a car salesman. D) He can fix her car.

5. A) $ 11.00. B) $ 6.00. o D) $ 4.00.
6. A) He wants a telephone of his own. B) He’s looking for a new place to work.
C) He doesn’t usually get calls here. D) He doesn’t know the woman’s name.
7. A) Ten times. B) Eight times. C) Four times. D) Two times.
8. A) Three. B) Five. C) Two. D) Four.
9. A) There is something the matter with them. B) He doesn’t need to go back on either one.
C) He doesn’t know when they leave. D) The man can take either one.
10. A) He decided not to go to New York. B) He won an award recently.
C) They are going to organize a dinner. D) No one expected him to move.
Section B

Directions: In this section , you will hear three short passages. At the end of each passage , you will hear some ques-
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tions . Both the passage and the questions will be spoken only once. After you hear one question , you must
choose the best answer from the four choices marked A),B),C)and D). Then mark the corresponding
letter on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) Man’s Lives. B) Man’s Normal Period of Growth.
C) Can the Aging Be Controlled? D) Can Man Live Longer in the Future?

12. A) Most people cannot live more than 100 years.
B) Most people are over 100 years old.
C) Man can live six times longer than his normal period of growth.
D) A person’s period of growth may be 25 years.
13. A) By describing the conditions necessary for a long life.
B) By explaining the findings of an expert.
C) By comparing man with other animals.
D) By quoting popular medical opinion.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) When the plane was up in the sky.  B) Ten minutes after he was sitting on board.
C) Just before he fastened his seat belt. D) While he was enjoying the beauty of the sky.

15. A) The man enjoyed the beauty of the evening sky from his plane.
B) The man had a time bomb hidden in his suitcase.
C) The ticking noise of the alarm clock caused him a little trouble.
D) The airline official and the police officer played a joke on him.

16. A) An Interesting Day. B) Two Mistakes Made.
C) A False Alarm. D) An Unlawful Arrest.
Passage Three
Questions 17 to 20 are based on the passage you have just heard. i
17. A) His wife. : B) A clock. C) A Tree. D) Lightning.

18. A) Edwards had been blind for nine years.
B) Edwards was unconscious for twenty minutes after the lightning had struck him.
C) Doctors believed that Edwards was never really blind or deaf.
D) Edwards awoke with his face in a puddle of water.
19. A) Hiding from the storm under a tree. B) Climbing a tree.
C) Driving a car. D) Lying on the ground.
20. A) He regained his sight from a head injury when he fell from a tree.
B) He was happy after his wife entered his room for the first time in nine years.
C) The lightning took the feeling from his legs and gave feeling in his eyes.
D) Because the blow that blinded him was very severe, it took another very severe blow to restore his sight.

Part I Reading Comprehension (35 minutes)
Directions: There are 4 passages in this part. Fach passage is followed by some questions or unfinished statements .
For each of them there are four choices marked A), B), C) and D). You should decide on the best
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choice and mark the corresponding letter on the Answer Sheet with a single line through the centre .

Passage One
Questions 21 to 25 are based on the following passage:

The term “culture shock” has already begun to creep into the popular vocabulary. Culture shock is the effect
that immersion in a strange culture has on the unprepared visitor. Culture shock is what happens when a traveler sud-
denly finds himself in a place where “yes” may mean “no”, where a “fixed price” is negotiable, where to be kept
waiting in an outer office is no cause for insult, when laughter may signify anger. It is what happens when the famil-
iar psychological cues that help an individual to function in society are suddenly withdrawn and replaced by new ones
that are strange or incomprehensible.

The culture shock phenomenon accounts for much of the bewilderment, frustration, and disorientation that
plagues Americans in their dealings with other societies. It causes a breakdown in communication, a misreading of re-
ality, an inability to cope. Yet culture shock is relatively mild in comparison with the much more serious malady, fu-
ture shock. Future shock is the dizzying disorientation brought on by the premature arrival of the future. It may well
be the most important disease of tomorrow.

Take an individual out of his own culture and set him down suddenly in an environment sharply different from
his own, with a different set of cues to react to—different conceptions of time, space, work, love, religion, sex, and
everything else—than cut him off from any hope of retreat to a more familiar social landscape, and the dislocation he
suffers is doubly severe. Moreover, if this new culture is itself in constant turmoil, and if—worse yet—its values are
incessantly (FE%EHE) changing, the sense of disorientation will be still further intensified. Given few clues as to what
kind of behavior is ratlonal under the radically new circumstances, the victim may well become a hezard to himself
and others.

Now imagine not merely an individual but an entire society, an entire generation—including its weakest, least
intelligent, and most irrational members—suddenly transported into this new world. The result is mass disorienta-
tion, future shock on a grand scale.

This is the prospect that man now faces. Change is avalanching (415 } ) upon our heads and most people
are absurdly unprepared to cope with it.

21. Culture shock occurs

A) where one can conduct negotiations for goods of fixed price

B) where people express ideas and emotions contrary to what they really feel

C) when value standards are so different that one is unable to make his own judgement

D) when one loses all hope of returning to his hometown environment
22. In the author’s opinion, “future shock” is

A) the product of some future society

B) the effect of a new culture on an unprepared visitor

C) a term in comprehensible in the popular vocabulary

D) a kind of social malady in the fast changing society
23. One thing that is in common between “culture shock” and “future shock” isthe

A) constant turmoil of the new culture itself .

B) disorientation of the masses

C) constant and radical changes

D) bewilderment and frustration of the victims
24. It seems that one good measure to prevent future shock is for people to

A) cherish more hope for the future v 3

B) replace conventional-ideas with modern ones

C) try to understand what is happening and prepare for the changes

_3_
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D) take a closer look at how people in other cultures talk and behave to each other
25. This passage was probably written to

A) warn the readers of today against possible dangers of tomorrow

B) prepare travelers for the unfamiliar environments

C) help psychologists understand certain irrational behavior better

D) enable sociologists to predict more accurately what will happen to mankind

Passage Two
Questions 26 to 30 are based on the following passage:

The concept of obtaining fresh water from icebergs that are towed to populated areas and arid regions of the
world was once treated as a joke more appropriate to cartoons than real life. But now it is being considered quite seri-
ously by many nations, especially since scientists have warned that the human race will outgrow its frsh water supply
faster than it runs out of food.

Glaciers(¥KJ1]) are a possible source of fresh water that has been overlooked until recently. Three-quarters of
the Earth’s fresh water supply is still tied up in glacial ice, a reservoir of untapped fr@h water so immense that it
could sustain all the rivers of the world for 1 000 years. Floating on the oceans every year are 7 659 trillion metric
tons of ice encased in 10 000 icebergs that break away from the polar ice caps, more than ninety percent of them from
Antarctica.

Huge glaciers that stretch over the shallow continental shelf give birth to icebergs thi'ougl’iilt the year. Icebergs
are not like sea ice, which is formed when the sea itself freezes: rather, they are formed entirely on land, breaking
off when glaciers spread over the sea. As they drift away from the polar region, lcebergs sometimes move mysterious-
ly in a direction opposite to the wind, pulled by subsurface currents. Because they melt more slowly than smaller
pieces of ice, icebergs have been known to drift as far north as 35 degrees south of the equator in the Atlantic Ocean.
To capture them and steer them to parts of the world where théy are needed would not be too difficult.

The difficulty arises in other technical matters, such as the prevention of rapid melting in warmer climates and
the funneling of fresh water to shore in great volume. But even if the icebergs lost half of their volume in towing the
water they could provide would be far cheaper than that produced by desalination, or removing salt from water.

.26. Which of the following could be best used as the title of the passage?

A) No Fresh Water Soon!
B) Glaciers and Icebergs.
C) Icebergs as a Source of Fresh Water.
D) Formation and Movements of Icebergs.
27. According to the author, most of the world’s fresh water is to be found _
A) in glaciers B) in rivers
C) in the depths of oceans D) under Antarctica
28. Which of the following would the author be likely to agree with?
A) Towing icebergs to dry areas is economically possible.
B) Desalination of sea water is a promising way to obtain drinking water.
C) Using water from icebergs is only a short-term solution to water shortage.
D) Icebergs could not be towed very far before they would melt.
29. According to the passage, which of the following statements is true?
A) Occasionally icebergs are reported to appear very near the equator.
B) The solution to fresh water shortage is more urgent than that to food shortage.
C) Icebergs can be seen only in winter. ‘
D) There are no icebergs in the Northern Hemisphere.
30. It can be inferred from the passage that most icebergs = .
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A) disappear mysteriously

B) move in whichever direction the wind is blowing
C) melt in the oceans

D) drift back to the polar region

Passage Three
Questions 31 to 35 are based on the following passage:

Most Americans think that the rise of their nation as a leading producer of manufactured goods, food and ser-
vices could not have occurred without the economic freedom of capitalism—which many prefer to call free enterprise.

The story of American economic growth is a story of people inventing new devices and processes, starting new
businesses and launching new ventures. For each of these endeavors, money is needed. That money is known as cap-
ital.

Samuel Slater could not have opened that very important original textile factory unless people had been prepared
to provide money to buy the land and build the factory. Slater and those capitalists would not have acted if they had
not thought they would profit from their investment. Because they wanted a profit for themselves and a chance to es-
tablish even more factories later, they started a whole new American industry. This industry helped cotton growers
by increasing the market for cotton. It also put more American ships to work in international trade.

The story of major oc.xnpanis in the United States is not much different from that of Samuel Slater’s mill. Indi-
viduals started enterprises with money borrowed from others. They share the profit gained with those investors.
When they wanted to expand their businesses, they again borrowed moriey.

Very early, people in the United States saw that ‘they could make money by lending it to those who wanted to
start or to expand a business. That led to the creation of an important part of the current economic scene: the selling
of stock, or shares, in a business.. ;

This practice started in Europe centuries befcme xhe American Revolution, but the stock trading practice was
greatly increased in the vigorous free-market climate of the young United States.

The order to invest, individuals do not have to have a great deal of money: they can buy just a small portion of
a business—called a share. The business of buying and selling shares in enterprises has become so big that offices have
had to be set up where the selling of shares, or stock, can take place. These places, located in many cities in the U-
nited States and around the world, are called stock exchanges. The best known is perhaps the New York Stock Ex-
change, located in the Wall Street area of New York City, the nation’s largest city and a major business center. Ex-
cept for weekends and holidays, the stock exchanges are busy every day as people buy and sell stock. In general, in-
dividual stocks are rather low-priced, and many working Americans buy them in order to make a profit.

When people buy stock, they become part owner of the company. If the company makes a profit, they receive
a share of it. Likewise, if the company lose money, the stockholders will not make a profit or the value of their
shares will drop. If that happens, they lose money. For that reason, buying stock is a risk. Knowing about business
is important if one wishes to make a profit in the stock market.

Not all businesses sell stock, smaller ones usually do not. Their profits are shared by those who put their money
into the business when it was started. A person who wants to start a small business—a shop, for example—may still
need to borrow money. The money can come from a bank—if the bank is willing to take a risk on that business.
31. How did these early major companies in the US grow up?

A) They have inverted new devices and processes.

B) The free enterprise.

C) The owners of these companies borrowed money from others. That money is known as capital.

D) The owners of these companies bought the land and built the factories.

32. According to the passage, which of the following is Not true.

A) Money is the most important thing for an enterprise.

._5_



B) Money invested in a business is usually called stock or share.
C) In order to invest, individuals don’t have a lot of money.
D) The buying and selling of shares is a very big business.
33. Which of the following is true about stock?
A) The stock trading was much earlier in Europe than in America.
B) The stock trading practice developed slowly before American Revolution.
C) The New York Stock Exchange is the best-known stock exchange in Washington.
D) The stock exchanges open every day but weekends.
34. What led to the speed development of stock trading?
A) The economic freedom of capitalism in the US.
B) The vigorous free market climate of the early US.
C) People found it could make money by lending it.
D) Individuals wanted to buy shares for profits.
35. What does the passage probably talk about?
A) The practice of €apital market.
B) The development of capital market.
C) The development of American free enterprise.
D) The practice of stock trading.

Passage Four
Questions 36 to 40 are based on the following passage:

The principal difference between urban growth in the Europe and in the North American colonies was the slow
evolution of cities in the former and their rapid growth in the latter. In Europe, they grew over a period of centuries
from town economies to their present structure. In the North America, they started as wilderness communities and
developed to mature urbanisms in little' more than a century.

In the early colonial days in North America, small cities sprang up along the Atlantic coastline, mostly in what
are now New England and the Middle Atlantic states in the United States and in the lower Saint Lawrence Valley in
Canada. This was natural because these areas were nearest England and France, particularly England, from which
most capital goods (assets such as equipment) and many consumer goods were imported. Merchandising establish-
ments were, accordingly, advantageously located in port cities from which goods could be readily distributed to interi-
or settlements. Here, too, were the favored locations for processing raw materials prior to export. Boston, Philadel-
phia, New York, Montreal, and other cities flourished, and, as the colonies grew, these cities increase in impor-
tance. :

This was less true in the colonial South, where life centered around large farms, known as plantations, rather
than around towns, as was the case in the areas further north along the Atlantic coastline. The local insolation and e-
conomic self-sufficiency of the plantations were antagonistic to the development of the towns. The plantations main-
tained their independence because they were located on navigable streams and each had a wharf accessible to the small
shipping of that day. In fact, one of the strongest factors in the selection of plantation land was the desire to have it
front on a water highway.

When the United States became an independent nation in 1775, it did not have a single city as large as 50 000
inhabitants, but by 1820 it had a city of more than 100 000 people, and by 1880 it had recorded a city of over one
million. It was not until after 1823, after the mechanization of the spinning and weaving industries, that cities start-
ed drawing young people away from farms. Such migration was particularly rapid following the Civil War(1861-
1865).

36. What does the passage mainly discuss?
A) Factors that slowed the growth of cities in Europe.

— 6 —



37.

38.

39,

B) The evolution of cities in North America.

C) Trade between North American and European cities.

D) The effects of the United States’ independence on the urban growth in New England.

The passage compares early European and North American cities on the basis of which of the following?

A) Their economic success.

B) The type of merchandise they exported.

C) Their ability to distribute goods to interior settlements.

D) The pace of their development.

According to the passage, early colonial cities were established along the Atlantic coastline of North America due

to

A) an abundance of natural resources

B) financial support from colonial governments

C) proximity to parts of Europe

D) a favorable climate

According to the passage, all of the following aspects of the plantation system influenced the growth of southern
cities EXCEPT the

A) location of the plantation

B) access of plantation owners to shipping

C) relationships between plantation residents and city residents

D) economic self-sufficiency of the plantations

40. The passage indicates that during colonial times, the Atlantic coastline cities prepared which of the following for
shipment to Europe? ‘
A) Manufacturing equipment. B) Capital goods.
C) Consumer goods. D) Raw materials.

Part [l Vocabulary (20 minutes)

Directions: There are 30 incomplete sentences in this part . For each sentence there are four choices marked A), B).,

41.

42.

43.

45.

47.

C) and D).. Choose the ONE answer that best completes the sentence. Then mark the corresponding let-
ter on the Answer Sheet with a single line through the centre.

Children are __ to the epidemic disease at this time of year.
A) infectious B) optimistic C) bound D) susceptible
I am tired; I must now.
A) turn back to B) turn down C) turn on D) turn in
Chinese diplomatic envoys were sent who should strengthen our international position and strive for world peace
and friendly among peoples.
A)' collaboration B) harmony C) coordination D) intercourse
. He received his education in Japan, which ___ his proficiency in the Japanese language. -
A) explained for B) accounted for C) recounted for D) explained away
Please when you have time. I’m so lonely nowadays.
A) come in B) drop by C) show up D) come about
. Heis an talented player in NBA history.
A) exceptionally B) moderately C) specially D) excessively
Jim cheating in the psychology test, while Sam was scolded.
A) got down to B) got along with C) got away with D) got through to
. Only when parents and children each other can they reach a mutual understanding.

A) reconcile with B) reconcile together
— 7 w——
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49.
50.
51,
52

53,

55,

56.
57.

58.

39

61.
62.

63.

65.

66.
67.
68.

69.

. A report consistently brought back by visitors %o the U.S. A. is how friendly,

C) reconcile about D) are reconciled

The English language is capable of expressing many delicate . of meanings.

A) concepts B) implications C) inferences D) shades

A ball will keep rolling under its own until friction stops it. Ea@ T

A) inertia B) gravity C) pressure D) strength

Listening to other’s telephone conversation is a of privacy.

A) violence B) violet C) violation +D) vibration

While in Paris, we paid a visit to the museum founded the artist Coral.

A) infavorof -~ B) in line with - C) in honour of D) in place of

Lack of employment outside home tends to make women to depression. :

A) probable . B) vulnerable C) inclined D) adhere
. Mrs. Brown is so about her housework that servants will not work for her.

A) peculiar . B) particular C), spectacular D) popular

With keen , convincing facts and a global angle, Epstein vividly recorded a brilliant page of the great Chi-

nese revolution. _ .

A) inspection e Bl intellectual C) intention D) insight

Too maﬁy sweets and not enough exercises will make you weight. :

A) turn on " B) puton C) bring on 2, D) take on

We are facing the of high taxes or poor highways. ; : : :

A) panic ‘ B) selection C) alternative D) arbm'ary

By the middle of the 21st century, the vast majority of the world’s population :r i cities rather than in'the
! s B A A S TR e it ks

A) are living B) will be living C) havelived D) will have lived

My grandmother likes to the washing with her hands to get out as much water as possible. " -

A) wring B) wrench C) wrestle D) wrinkle

, and helpful most Ameri-
can were to them. = .

‘A) gloomy B) gigantic C) courteous - D) ingenious

‘Heis ___ fit to be a minister than a schoolboy would be.

A) no less B) any more C) no more . D) not so

It can be predicted that educational TV programs will cover a wider of subjects in the few years to come.

A) range : B) extent C) series D) variety

Miss Kunts used to be the head of our sales department, but recently she has been to our overseas branch

in Tokyo. '

A) transmitted B) transplanted C) transferred D) transported
. Physics is a difficult subject, but if you with your studies I’m sure you’ll do well.

A) persevere B) persist C) insist D) assist

Some hard plastics can be metals in manufacturing machine parts.

A) substituted for : B) taken the place of

C) replaced in : : D) given way to

Tofu is a of the Chinese restaurant near my home at Bowling Green, Kansas.

A) singularity B) specialty C) particularity D) originality

The tragic accident him of his sight and the use of his legs.

A) excluded B) disabled C) deprived D) gripped

The interviewer promised not to the source of his information.

A) recall B) reveal C) retain D) refer

He has injected the vaccine already, so he should be to the disease now.

A) tolerant B) immune C) triumphant D) ignorant

_8_




70. The conversation was all right but it went on too long.

A) by itself B) in itself C) of itself D) despite itself
R & =
Part IV Error Correction (15 minutes)

Directions: This part consists of a short passage. In this passage, there are altogether 10 mistakes, one in each
numbered line. You may have to change a word , add a word or delete a word . If you change a word ,
cross it out and write the correct word in the corresponding blank . 1f you add a word , put an insertion
mark (N\) in the correct place and write the missing word. in the blank . 1f you delete a word', cross it
out and be sure to put a slash (/) in the blank :

Example: '

Television is rapidly becoming the literature of our peri-
@ds. Many of the arguments ha¥ing used for the study of
literature as a school subject are valid for /A study of -
television.

We live in a society in there is a lot of talk about
science, but I would say that there are not 5 percent of
the people who are equipped with schooling, including
college, to understand scientific reasoning. We are more
ignorant of science as people with comparable educations
in western Europe educations

There are a lot of kids who know every thing about
computers—how to build them, how to take them apart,
how to write programs for games. So if you ask them to
explain about the principles of physics that have gone
into creating the computer, you don’t have the faintest idea.

The failure to understand science leads to such
things like the neglect of the human creative power.

It also takes rise to a blurring (M) of the distinction
between science and technology. Lots of people don’t
differ between the two. Science is the production
of new knowledge that can be applied or not, since
technology is the application of knowledge to the
production of some products, machinery or the like.

The two are really different, and people who have
the faculty for one very seldom have a faculty for
the other.

Science in itself is harmless, more or less. But as
soon as it can provide technology, it is not necessarily
harmful. No society has yet learned how to forecast the
consequences of new technology, which can be enormous.

Part V

Writing
Directions: For this part, you are allowed thirty minutes to write a composition on the topic .
s 9 S

1. time/times/period
3.7

3.the

71.

s

75
74.
75.

76.
7.

78.
79

(30 minutes)
You should write at
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Model Test Two
B —

Part [ Listening Comprehension (20 minutes)

Section A
Directions: In this section you will hear 10 short conversations. At the end of each conversation ,a question will be
asked about what was said . Each conversation and question will be spoken only once. After each question
there will be a pause. During the pause , you must read the four suggested answers. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.
Example: You will hear:
You will read:
A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9 o’clock in the
morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct answer. You should
choose answer [ D] on the Answer Sheet and mark it with a single line through the centre.

Sample Answer: [A] [B] [C] [B]

1. A) In a factory. B) In a flower shop. C) In a heating plant. D) In a locked room.
2. A) You should believe everything you read. B) She thinks the book is excellent.
C) She wonders which newspaper he reads. D) Reaction to the book has been varied.

3. A) No. They are not allowed to attend the meeting.
B) Yes. They will attend the meeting if they are invited.
C) Yes. There is no doubt that they will attend the meeting.
D) No. They would definitely not attend the meeting.
4. A) English husbands usually do a lot of housework. B) English husbands usually do little housework.

C) English husbands are good at sports. D) English husbands enjoy doing housework.
5. A) Courageous. B) Lazy. C) Curious. D) Cowardly.
6. A) The man will cook. B) She won’t buy enough.

C) She'll get in a bad mood. D) She will have to buy food for the dinner.
7. A) $ 0.40. B) $ 0.45. C) $ 0.30. D) $ 0.35.
8. A) At 9:35. B) At 9:05. C) At 10:00. D) At 9:20.
9. A) In a kitchen. B) In an orchard. C) In a garden. D) At a picnic.
10. A) Where Sally lost her money last week. B) What Sally had done to break her arm.

C) How Sally is feeling. D) What Sally’s job is.
Section B

Directions: In this section , you will hear three short passages. At the end of each passage ,you will hear some ques-
tions. Both the passage and the questions will be spoken only once. After you hear one question , you must
choose the best answer from the four choices marked A),B),C) and D). Then mark the corresponding
letter on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) The group in a messy storeroom. B) The group in a nice office.



C) The group in a poorly designed living room. D) None of the above.
12. A) Visitors to an art museum in Kansas City. B) Visitors to a university museum.
C) Visitors to an exhibit of paintings. D) Visitors to an exhibit of photos.
13. A) People in the dark brown room walked more quickly.
B) People spent more time in the white room than in the dark room.
C) Dark brown stimulated more but shorter activity.
" D) Dark brown stimulated more and longer activity.

Passage Two
Questions 14 to 17 are based on the passage you have just heard.
14. A) Power. B) Academic degree. C) Wealth. D) Diligence.
15. A) The change of life-style. B) The change of the nature of occupations.
C) The increase of social wealth. D) The increase of job opportunities.
16. A) Politicians. B) Clerks. C) Manual workers. D) Lawyers.
17. A) Farm workers. B) White-collar workers. C) Blue-collar workers. D) Not mentioned.
Passage Three
Questions 18 to 20 are based on the passage you have just heard. :
18. A) Character of graphite. B) Charag:tei' of paint.
C) Character of pencil. D) Character of lead. :
19. A) A shipping mineral. B) A lubricant. C) A form of carbon. " D) Crystal.
20. A) Paper. B) Paint. C) Pencil lead. D) Mineral.
Part [l Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements .
For each of them there are four choices marked A), B), C) and D). You should decide on the best
choice and mark the corresponding letter on the Answer Sheet with a single line through the centre .

Passage One
Questions 21 to 25 based on the following passage:

The destruction of our natural resources and contamination of our food supply continue to occur, largely because
of the extreme difficulty in affizing (8- € ) legal responsibility on those who continue to treat our environment
with reckless abandon (B{E). Attempts to prevent pollution by legislation, economic incentives and friendly persua-
sion have been met by lawsuits, personal and industrial denial and long delays—not only in accepting responsibility,
but more importantly, in doing something about it.

It seems that only when government decides it can afford tax incentives or production sacrifices is there any ini-
tiative for change. Where is industry’ s and our recognition that protecting mankind’ s great treasure is the single
most important responsibility? If ever there will be time for environmental health professionals-to come to the fio_nt-
dines and provide leadership to solve environmental problems, that time is now.

"I—V:are being asked, and, in fact, the public is demanding that we take positive action. It is our responsibility as
professionals in environmental health to make the difference. Yes, the ecologists, the environmental activists and the
conservationists serve to communicate, stimulate thinking and promote behavioral change. However, iL_isM_uf
who are paid to make the decisions to develop, improve and enforce environmental standards, I submit, who must
lead the charge. '

We must recognize that environmental health issues do not stop at city limits, county lines, state or even federal




boundaries. We can no longer afford to be tunnel-visioned in our approach. We must visualize issues from every per-

spective to make the objective decisions. We must express our views clearly to prevent media distortion and public

confusion.

I believe we have a three-part mission for the present. First, we must continue to press for improvements in the

quality of life that people can make for themselves. Second, we must investigate and understand the link between en-

vironment and health. Third, we must be able to communicate technical information in a form that citizens can un-
derstand. If we can accomplish these three goals in this decade, maybe we can finally stop environmental degrada-
tion, and not merely hold it back. We M be able to spend pollution dollars truly on prevemi@n_
bandages. |

21.

7

. By saying “We can no longer afford to be tunnel-visioned in our approach”, the author means

rTem infer from the first two paragraphs that the industrialists disregard environmental protection chiefly be-

cause

A) they are unaware of the consequences of what they are doing
B) they are reluctant to sacrifice their own economic interests
C) time has not yet come for them to put due emphasis on it
D) it is difficult for them to take effective measures

.~ The main task now facing ecologists, environmental activists and conservationists is 1

A) to prevent pollution by legislation, economic incentjves and persuasion
B) to arouse public awareness of the importance of environmental protection
C) to take radical measures to control environmental pollution

D) to improve the quality of life by enforcing environmental standards

A) we should be able to see one aspect only

B) we tend to be blind to the facts

C) we are likely to be short-sighted

D) we will suffer losses if we continue to be narrow-minded

. Which of the following, according to the author, should play the leading role in the solution of environmental

problems?

A) Legislation and government intervention.

B) The industry’s understanding and support.

C) The efforts of environmental health professionals.

D) The cooperation of ecologists, environmental activists and conservationists.

. Which of the following is true according to the last paragraph?

A) Efforts should be exerted on pollution prevention instead of on remedial measures.
B) More money should be spent in order to stop pollution.

C) Ordinary citizens have no access to technical information on pollution.

D) Enyironmental degradation will be ctopped by the end of this decade.

Passage Two
Questions 26 to 30 based on the following passage:

In 1873 the British scientist James Clerk maxwell published his famous theory linking the phenomena of electric-

ity and magnetism. One implication of this theory is that an electric spark would generate an electromagnetic distur-
bance that would travel in all directions with the speed of light. In 1887 the German physicist Heinrich Rudolf Hertz
experimentally produced electromagnetic pulses and detected them and determined that their properties accorded with

Maxwell’s theoretical predictions. Th%e?u?e’l;r scientific results led inventors to think that such pulses could be used

to transmit messages coded according to procedures used in the telegraph. The Italian engineer and inventor Gugliel-

mo Marchese Marconi was operating a wireless telegraph system for short distances in 1895. By 1899 his system was



